
&

m==
-

m = 200x3 = 242 =48Surl
0

. 0500

SuBry ?

-

nWars) = 10.0/,060 = 9,43x102 ml

n (MX2) = 10 .09/248 = DesXiomol < nCNarie)
X10

-
2- To & M

-In the supernatant : <(201 =943x102- 49, X102 = 5 .

YoX1
02M

0 . 2000 L

cop + to t Hu + or X
2 107

--

5 -Yox2 540x52x
=Kb*xoll

= -13x10Y
2.70 x10-1

- I X X -
&

-2. 70x101 1 : 19407 pH =-
O
I 11 .53

7 .48x103 11 . 87*
X

-

Ag
+

= AgX(s)
15 . 2 10.

0

- T 2x- = 4. ex102X2 => X = 80) : Br
107 .9 + / 28

M = 248 - 80 .7 +2 = 86.6 :Sr

E: SrBra



O
-

n (MX2) = 9.3Xw-

-

m (Narson) = Yobxio 142
-

/

:ifL

/
.

m(srson) = 4, 03 x102X Iff
It= 7 . 429

recht



When put is high ,
[Cat) = 0.2 X 13

&F-] = 2 (Cait) = 0
:42x105

72 = 3 .7 X10Ksp = 0.4 x 102 x(42x103) L

-

put lower ,
Lut] higher , CaFr + In

+ = LaPtrnF
# binds with t to form weakand MF .

shifting the dissolution equilibrium ofLaFe to the right!
increasing S.



At pre = 2
,
Curi > (2) At pu = ) I

[Ca ) = %.
0x10 4M

27x10
+ )

- 3 . 04x104m

Its - = 164x104 m CE=- - = - 4.
0x15

Y =.
127xro

Chr)+2 = I /Lah+) = 80 xp9
CHE] + (E) = 2 /Cal] = 127xc3x2 = 2.74x103

& uF] = 20 x 10-4- 304x104 = 4,96x104

=> CHI] = 2 .58x10-3 M
10-2x 1 .64 x 10 Y

= 6. 4x104

I
Ka =

- = 6. /xi5↑
- Cur

= 10 WXGOUx-I

Ka = intrygets =

2 . 58x10-3
E cutterity L
- -

pr =3 .
e

,
Clai : atco's m ; CE:or examI

I

CHES =
Cu+EF]/Ka = 1010XS04X104/6.x04 = 4 .75x10 M

nLUNG) =Cr+) + crfs) x1 . 00L = 4 . 75x10-4+ 103
.

20

flT 1 . 5 XvoL
-

- O
-

pr >,500
· [aY = 2 . 1x10-4 M

Copy = Ksp/(Cent =
8 .7x109/21x154 : 4. 105 M

2

con tret If cut + cop X. 4 : Exist
= Kai Kaz-

0 .0345 X 4ilXiot 0 . 0345
= 4: 3x15]

(steady
= T= 1 .2x10- => X= 1.3x107

X4 .7x10
+

& I -
=

20x10
- 17

pr = 6 . 88



* Best method far b) . Ink = In) = Inky-InEr = - 4010(4) + 15. 2 - 1-14500 ·F +31.7)

=> Q = - 10490x8 .314= -87 . 2 Mylam) i
=

10490)-16 . 5 =-M-03= - 16.5x8-214 =
-12) 5/1.k)
- O

-

j -> kf = => k = 1 .

=o

Y
Ou = To sa

⑰ ↓ = 0001575
7 -

7N =
1 .

0 Jinkwo2] = 1 . 8x10 19 chains- X L
1200X28op

O O

1 According to Arhenius eg .
Ink = -E()+

The slope is - E : Ea(r) = -14500X (8
.314)

= 121 ks/ ma

1 EaLf) = -4010x (-8 .314)TER = 33 . 3 PT/ mol

- CnF= Ea(f)-EaCr)
*= 33 . 3- 121 = - 87. 7 let qual

-

2) when = 0 .001175
,
T = GTK ; Re = Gr

,
K = 1

,
o =-

05=o = -138 J. most K+

635
&



*d) better and alternative methodi CG CT20K) = -87:) - T20x3x(-138)
-Oft -11-7x103
- -

Kp = e MT = e 851xxy20 = 0 . 142
= + 11 . 7 R5/m

pcary , g) = tp" Tor %=
- I

-44 yR + Y= -> R- C-

hi
a c= C converts to 2 C-2 single

1CHO BELL=C) - 3H5= - 87 . 7 =7 BECC=Cl =6 RT
X2 quiL

O - &-- -

↳f Ey%10 T20+ 15 .2 9 . 63
I h

( l -I -= - I

y Kp(720) = et1yt00 :T20 + 31.7) all . 6
0 .Se- 0 . 19

Cragg) + R · cs) -> RULU · (s)

Kp = 0 . 139 ~
↓ = plume ,Sleq g = 7 . 19 bar

plume .9)
eq

&%: 9
+ 100% : 11 %#

- -

In(f)= =300+ t = 14 .9 ; key =29barl . st

In(f) =
-y01 x
+ + 15.2 = 118 ; leg : 131x10" part . st
se

TRf/rf =

2 .96x0/iwon =Lex10

3The same as above, toL



O C-
-

· 37↑ 0 . 1

:
3.15

-

A is the cathode ; B is the anode :

Cn] A = 1 , 00 M

;
[C] p is much

smaller

Cit(A) = (i+ c)

It is a concentration cell ,
Cut in A covents into

Cal in B through redox ,
CP in Agains to form

In while In in B loces e to form Ca ,
thus..-



* d) further explain why there is a significantclup when

approaching to the plateau ?

Asi is added to B , ME -> Must , more cat is

converted from its complex . [CiTBO,

according
to Lop or Nevst equation . East

When enough rnoy added , all oh-> must , and all
Cut is released

,
so [*] doesn't change with Vue
- -

In the end
,
Even =or , thus levels off

# RTEven = Esen- - InQ
uf

=org=
Vuncy added is negligible compared to 100 mL.

3 Cait) in B = 2 .31 x105 M
total #

When Varay : 3 . 15mL is added · Evel levels off,

It means all my is converted to Must

my + n
+
-> myt

Mrng = nums) = 100m2x 0.00 M = 100x102 mol

100X12 .

-

<Cuncy) = F = ~on t



* O
*zit :

Cit Yang Chi
Y 5. /00 221x10-5

= 231X10
p

= kf = 1 .7 x103-
↓
fast 2x(15)I

2 = 136x10
14

Y&

-

Ep = -0
1059 19(36x+Y)-

z

= agov,
Perfect !

[Agt]Develo : 221 X10* M ; Evereloff = - Ig
I

= an4 VIntially , Unwa= - #
++ 2m = AgainstAg 2

.31X105

X 010 2 . 31 X105 Tig
= Ky = 13x10

0859/1 .30x10-19 X= 1 .36 /10
- 10 M

Er =E
-
-- ↳15- - 0 .58V

I 1 ,
00



nuh
,
+ cycoon -> chico + Met

O

[5s + I + n
+
-> 2 + 4

Most ci + r
+
-> Mat + chigh + who

-

#
For

+ori -> + on

2a0 + 1 &> Cal + corg)

+ Ye -> Te + O



O
-

O 00

O -
O

↓
-

us' is ionized , as nt
,
the energy level of us ↓,

thus the IEI N.

* O

# + cst ->4 + rt
- -

O = -376 + (1212-984) = - 48 Rs/wol ,

release

↑ n
+

48X10 - *

q =
- ~ jlatom = 3 .0x02J/atom Bin S usO

Gio2X1027
-0
-

Th -

Y: Depe ns'- ( +ig->(n+ F

H
,
as all others have up which is Empir

significant lower than (ntls' ,

but if

doesn't have Ip !



O -O
*Ep-is . To-Y :StA(TE) !

or udE (+ 1)phis modestly higher than (n +1)s' for all hitC(m)f butH's http has the same energy as (n+ 1)s' as

It has only e-,as=nplenergy O
-

Lich-> RoC ,
similar lattice structures ,

volume increasers more than that of the molar mass,

thus ,

&I
HCCS) is not ionic , but molecular ,

distance between

molecules are larger ,
so density smaller ; Est has a

-

12 + 94 + 127
Ba larger size, having

55 58D-decy morecsurrounding,
thus

, density higher
8 -DE = mc"

= (1269010895 - 136.905814)x x0 tex
- 1 :126X10'4 ymalt 2998

= 1 . 136 +10 " As wel



&

CA :

:O i
117 - &

↑

11 :
:Nen =N-l-N =n =N

D # # F
: 0 :

DA :

#. N..

O
-

i -> Cof New
out= 48 + 290x2 +241 - 1080 -paper



-

-

Actual is more exchroic than calculated ! ·
Il

it is caused by the significant unstabilityof New
due to the ring strain (smallring) ,

this is why--
-

As more gas molecules
are produced ,

ost >0,
NET= On- jost = G Lou*

70

·Nec-w
XXy :

↑ ( -

Linear
bent

More stable , ring strain due to tho less ideal

bond angle distortion !



O
1

#j HW in I is the most basic.

The will in I is less basic as the N is resonanced with
10
,

08 Of

-N RarhR+.. ①
The N in It is sp2-hybridized , thus it is more electronegative,

and less basic than that in I
.

-

I : who me ;

I
: nou
I : not

-

xi
-NhTusz



V is more basic;
un

CA of V :

e
&

IV is more reactive .

The circled N in v below
is electron withdrawing .

which decreases the e density in
V

,
thus V is

less reactive towards By as aromatic ring is

the nucleophile (highera density ,
more reactive

major product of IV :D)
Hig #

3 in total

&( -y only -resonances)


